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(co1.2.1-ulR) (10M)
Q1A) l\{atch the following (AnY 10)

Column A
l) Managcmcnt Accounting

2) Trend AnalYsis

3) SuraP value rrntler caPilal

4) Budgeting techniques

5) Curiont Assets less Current liabilities

6) PrePaid ExPenses

7) Securitics Premium

8) Pa,vback Period
9) PLeliminary ExPenses

l0) Bank Overdrafl
1 l) Test of liquiditY
12) Debentr:re

Colunln B

a) lotal Cunent Assets

btNon Qtrick Culrent Asset

u) A lechnique ol'Capilal Budgcting

d-) tised lor decision rnaking

e) Fictitious Asset

fl Non quick curent liabilit)-
g) Quick Ratio

h) Earliest velr as Base lecr
i) Fixcd Rate of inlcrcst

;j Reserve
tii a.Oa.a to last vear's cash inl'lorv

f) Working CaPital

+

Qlb)StatewhethcrthefollowingstatementareTrueorFalse(Any10)(C0t,2'3.UiR)(10M)
1) Financial ,tut"*.ntr"oi o 

"offiuny 
p..pur.erl at the end of the fina:rcial year provide

' information oniy to the owners of the business.

2) Depreciation is a cash business erpenditure

: j Working capital means Ne1 Current Assets

+j ffr.* lt"" ti-" element involved in Capital Budgeting

ii iiqoia n*io is used to determine the company's long term solvency

;i A ti;h". debt equity ratio indicatcd a. sat'e r financial position of the company'

;i 6rit"id- Contribution is not included in proprietor's tund

ij o;;;r, tund and boi-*"a tund are two constituents of rotal tunds of a companv

9j Focus of Management Accounting is onl'v an oxternal reporting

r bl Net presint value method consider time value of money

1l) In comrnon size Income statements capital employed ii considered equal to 100%

12) Average stock is the total ofopening and ciosing stock

Q2) The following
analYsis

is the Balance Sheet of Ram Ltd' Prepare vertical form of Balance Sheet lbr' (co2' u &A) (20M)

Assets,
2,00,0002,50,000 iand and BU4411L
2,50,0001,50,000l0% preference share

2,00,000Fumiture2,00.000
90,000Investment1,s0,000
35,00(Stock1.00,000Creditors-

Liabilities

Machinery

GeneralReserve 

-



Bills le 50-000 Debtor-s 5 0,000

Cash 40.0tj0

Bills Rcceivable 3 0,000

Preliminarl
Expenses

5,0{-)0

90.00,000 90,00,00!

OR

Q2A) f rom ttre fbllou.ing Balance Sheet ol Praful [,td preparc Trend Percentage in veflical forms
(CO2-R:'A) (20M)

Ralance Sheet as on 3l't March

Particulars 201 5 2016 2017

Share 2,00,00 2,00,00 2,00,00

8% share 1,00,000 r.50,000 1.00,000

General Reserve 20,000 22,A04 42,000

Debenfure 75,000 1.00,000 90,000

Bills 5,000 7,000 10,000

Creditors 15,000 10,000 24,000

4.i5,000 4.89.000 4.56.00!

Fixed Assets 1,50.000 2,00,000 2,00,000

lnvestment 1,00,000 1,50,000 100,000

Cash 50,000 2s,000 40,000

Debtors 70,000 60,000 63,000

40,000 50,000 60,000

5,000 4000 3000

Total 4,15000 4,89,000 4.66,000

Q3) Follolving is the Profit and Loss Account of Moon Enterprise for the year endsd 3 1.03,2 1017

You are to aompute ratio
PaEe-Z

.

i
i.
')
ti .,1

I

i
I
Ir

iI

ri

AmountParticularsAmount
lv Sales4,00,000StockTo
creaia 18,oo,ooo9,80,000To purchases

25,00,0007.00.000Cash2.90,000To Wages
Bv Closing Stockr.90,000To Factory Expenses

1,20,000 ofTo office salaries
1,0001,30,000To

1,12,500Io
2,50,000't'o on
1,40,500To provision for tax
2,00,000To Trs. to General

Reserve
2,98,000To Net Profit

3 1,1 1,0003 1 ,1 1,000

i."

EquitY 3nd Liatlilities

Total
Assets

Stock
Preliminarv Expenses

Particulars

Bv dividend Received



a) Grcrss pr.ofit Ratio b) Stock Turnover Ratio c) Adnrinistlative Expenses Ratio

d; Net Profit Belore Tax Ratio e) Selling and distribr.rtion Ratio

OR

e3) Frolr the fbllorving particulars prepare a Vertical Balance Sheet and calculate the follorving

ratio (CO3'A) (20M)

1) Cunent Ratio 2) Quick Ratio 3) Proprietor's Ratio

4i Stock to urcrking capital Ratio 5) Capital Gering Ratio
AmountParticttlars

Equity Share Capital 8,00,000

General Reserue 1,60"000

Prolit & Loss Account (Profit) 2,40'000

Unsecured Loan 4,00.000

Secured Loan 2'40.000

Goodwill 4.80,000

Land 4,80,000

Plant and Machinery 6,40-000

44,000Cash

stock 5,96,000

Debtols 1,60,000

Outstanding ExPenses 2,40,000

, 3,20,000Creditors

e4A) From the following information provided by lvTs P&CO. Pvt Ltd. Prepare a statement

showing working capital requirements for the year ended 2016-17 (CO3,UiR) (20M)

a) Estimate sale for the year 2016-L7 {21,60,000

b) Estimate cost structuro Ratio to selling price raw material 60% Labour 20Yo and overheads

$%

c) Selling price t 20 per unit Raw material remain in process for I month

d) Material remains in process for I mouth

e) Finished goods remain in stock for 1 month

Q Customer are allowed 2 months credit

g) Supplier allow I month credit

h) Time lag in payment of wages is one month

i) Time lag in payment of overheads is half month

j) Cash and Bank Balance is expected to be 25oh of the debtors
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a) Classitication of current Assets

k) DebtoLs ale to be calcuioted at selling plicc

l) Ilr-rring the tnanuiacturing proce ss labour and overhe ads acclre eveniy

OR

Q4B)PrathalnlncllrstriesLtt]iscorrsideringpurchasingoftworrrachineProsandCons.The

initial cost of pros machine is {2,00,000 ancl that of machine con is { 1,50,000.Both machine

ha,*,e five years of life with no scrap value. Company provides deprecation on straight line

method of illcome ta,x fate is 30%, Expected plotit before depreciation and tax f'or both machiile

and present va1u0 is <l@l}%rate for.the next five years

Year PV OF { 1 Pros Machines

1 0.909 41.000

2 0.s?6 44,000

3 0.751 50'000

4 0.683 54,000

5 0.621 58,000

@r0%.

as follolvs 
.

i.'

Discounting factors
You are required to calculate Net present value of each machine model

and suggesi the companv as to which machinc should be purchased'

Q5a) Explain the meaning and function of Management Accounting

Uj exptain the techniques of capital buci8etinSo*

Q6) Write short notes onl (Any Four)

(co1,2,3-UlR) (101\r)
(c01,2,3-U/R) (101\t)

(20M)

c) Gross Profit Ratio

d) Net present value

e) Gross nnrking caPital

f) Cost of goods sold

xxnocxxxK)o(rxxx

Cons machine

32.000

40,000

4?.000

50,t)00

59"000
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